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QUESTION 1

Which of the following expressions evaluate to True? (Select two answers) 

A. \\' t \\'.upper () in \\'Thames\\' 

B. \\'in not\\' in \\'not\\' 

C. \\'not\\' not in \\'in\\' 

D. \\'a\\' not in \\'ABC\\' .lower () 

Correct Answer: AC 

 

QUESTION 2

Assuming that the code below has been placed inside a file named code.py and executed successfully, which of the
following expressions evaluate to True? (Select two answers) 

A. str(Object) == \\'Object\\' 

B. _name == _main_\\' 

C. ClassA. _module_ == \\'ClassA\\' 

D. len(ClassB.__bases__) == 1 

Correct Answer: BD 
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QUESTION 3

A property that stores information about a given class\\'s super-classes is named: 

A. _upper_ 

B. _bases_ 

C. _ancestors_ 

D. _super_ 

Correct Answer: D 

 

QUESTION 4

The following class hierarchy is given. What is the expected out of the code? 

A. BB 

B. CC 

C. AA 

D. BC 
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Correct Answer: D 

 

QUESTION 5

What is the expected output of the following snippet? 

A. 1 

B. 4 

C. 2 

D. 3 

Correct Answer: C 

 

 

QUESTION 6

What is the expected behavior of the following code? 

PCAP-31-03 VCE Dumps | PCAP-31-03 Practice Test | PCAP-31-03 Braindumps                                4 / 9

https://www.pass4itsure.com/pcap-31-03.html
https://www.pass4itsure.com/pcap-31-03.html
https://www.pass4itsure.com/pcap-31-03.html


https://www.pass4itsure.com/pcap-31-03.html
2024 Latest pass4itsure PCAP-31-03 PDF and VCE dumps Download

A. It outputs False 

B. It outputs nothing 

C. It outputs True 

D. It raises an exception 

Correct Answer: A 

 

QUESTION 7

How many elements will the list1 list contain after execution of the following snippet? 

A. two 

B. zero 

C. one 

D. three 

Correct Answer: A 

 

QUESTION 8

A two-parameter lambda function raising its first parameter to the power of the second parameter should be declared
as: 

A. lambda (x, y) = x ** y 

B. lambda (x, y): x ** y 

C. def lambda (x, y): return x ** y 

D. lambda x, y: x ** y 

Correct Answer: D 

 

QUESTION 9

Assuming that the snippet below has been executed successfully, which of the following expressions will evaluate to
True? (Select two answers) 
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string = \\'python\\' [::2] 

string = string[-1] + string[-2] 

A. string[0] == string[-1] 

B. string is None 

C. len (string] == 3 

D. string[0] == \\'o\\' 

Correct Answer: BC 

 

QUESTION 10

What is the expected output of the following code? 

A. 4 

B. 16 

C. an exception is raised 

D. 1 

Correct Answer: D 

 

QUESTION 11

What is true about the following snippet? (Select two answers) 

PCAP-31-03 VCE Dumps | PCAP-31-03 Practice Test | PCAP-31-03 Braindumps                                6 / 9

https://www.pass4itsure.com/pcap-31-03.html
https://www.pass4itsure.com/pcap-31-03.html
https://www.pass4itsure.com/pcap-31-03.html


https://www.pass4itsure.com/pcap-31-03.html
2024 Latest pass4itsure PCAP-31-03 PDF and VCE dumps Download

A. the code will raise an unhandled exception 

B. the string I feel fine \\'will be seen 

C. the string it\\'s nice to see you will be seen 

D. the string what a pity will be seen 

Correct Answer: BD 

 

QUESTION 12

Which one of the platform module functions should be used to determine the underlying platform name? 

A. platform.uname () 

B. platform.platform () 

C. platform.python_version() 

D. platform.processor() 

Correct Answer: C 
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QUESTION 13

What is the expected behavior of the following code? 

A. it outputs error 

B. it outputs list assignment index out of range 

C. the code is erroneous and it will not execute 

D. it outputs  

Correct Answer: B 

 

QUESTION 14

Is it possible to safely check if a class/object has a certain attribute? 

A. yes, by using the hasattr attribute 

B. yes, by using the hasattr ( ) method 

C. yes, by using the hassattr ( ) function 

D. no, it is not possible 

Correct Answer: B 

Reference: https://stackoverflow.com/questions/610883/how-to-know-if-an-object-has-an- attribute-in-python 

 

QUESTION 15

What is the output of the following piece of code? 
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A. ant\\'bat\\'camel 

B. ant"bat"camel 

C. antbatcamel 

D. ant bat camel 

Correct Answer: B 
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